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CHI1TIMEAND WORK

ANSWERSAND EXPLANATIONS

EXERCISE 1

{e) '+ 15 men can do 1 work in 3 days.
. 1 man can do 1 work in 3 = 15 days.

*. 10 men can do the same work in

315 9,1
0 g 2%
{¢) + 16 men can complete 1 work in 8 days.

. 1 man can complete 1 work in 8 x 16

. 12 men can complete the same work in

168 32 2
—
i 3 g
(b) ' 17 men can complete 1 work.an 12 days

. 1 man can complete the work in 12 x 17 days

. 6 men can complete the work in

179 .
- ays
s of duvs = 12x8
{¢) Number of days = 17-38
= 24 days

{e) Required number of days

~ 6x12
T 6+12

=4 days
{a) 112 men can complete the whole work in
8 % 3 =24 days
Required no. of days

_12x24

1
Part processed by computer B in 1 minute = 3

Part processed by computer C in 1 minute

| o—

Ch|-h
el N
W —

_42-20-12 10 1
60 606
Hence, computer C will process l+input 6 minutes.

8 (b) Required no. of binders

_800x2Tx15 —9
1400%x 20

9. (d) Required no. of days

9800
T 350 008

10. (a) In an hour, George and Sonia together can copy

1 1
g+§ = = of a 50-page manuscript.

: 7
1.e. In an hour they together can copy %of the

100-page manuscript.

1.e. They together can copy a 100-page manuscript in
48 ;

— hours, 1.e. 6§ hours.

7 7

11. (b) A’s 1 day’s work

1 1
0 and B’s 1 day’s work = 5

(A+ BYs 1 day’s work

18
16 (L)L
10 15) o
1 : ’ :
(¢} Part processed by computer A in 1 minute = 3 30, both together will finish the work in 6 days.
d WiV LW\
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12. (a)

13. (d)

14. (¢)

15. (a)

16. (a)

1
(A+ BYys 1 day’s work = Eth part of whole

work.
B’s 1 day’s work = %th part of whole work.

A’s 1 day’s work

1 1 1
= ———=—th part of whole work.
12 28 21

A alone can finish the work in 21 days

1
(Man + Son)’s one day’s work =

8
1
Man’s one day’s work = 0
1 1
= Son’s one day’s work = ———=—
8 10 40

Son can do it in 40 days.

1 minute’s work of both the punctures

11 5
= | =+t=|==.
[9 6] 18
So, both the punctures will make the tyre flat in

E:3§min.
5 5

1
A’s one day’s work = grd work

B’s one day’s work = éth work.

1 1 1
(A + BYs one day’s work = §+E = Endwork

. Aand B together can complete the work (knit a
pair of socks) in 2 davs.

.. They together knit two pair of socks in 4 days.

Use direct formula as given

1
1 11
77+7
A B C

So time required when they work together

E

4
18, (b) 12M *x18=12 W % 18 x =

Wi N LW N

1
- T 1 1 =30 hours
56 R4 280

17. (a) We have W = work to be done = Destruction of

the city = X x 7 plane days, where X = original num-
ber of planes. Also, W = (X — 12) x 10 plane days.

Now the work done is same in the two cases
{destruction of same city)

= Xx7 =(X-12) <10
— X = 40 planes.

3

=
£ \gb)

3
10AL + 8 = 10M + 8 x ZM:16M

16 men can complete the same work

L8 = 2: 13ldays
16 2 2

n

19. (e) M =2B

A+ 48 = 148 + 4B = 188
SM+ 4B = 10B + 4B = 14B
18 boys complete the work in 6 days.

14 boys complete the work in

618
14

5
=7 = days.
= ays

Note: 7 men and 4 boys complete the work in 6 days.
We have to find out the no. of days in which 5 men
and 4 boys complete the work. Here, we see that 4
boys are common in both the cases, therefore, 5 men
will take more time to complete the work, i.e., more
than 6 davs, which is not given in any options.
Therefore, without calculating we can say that our
answer is (e).

20. (d) 8W=6M= 12B

12M + 120 + 128 = 12M + 90\ + 60M = 27M

9 men can complete the work by working 1 hour
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9
and time taken by Ritika alone = X+ 5 davs

per day in 6 x 6 davs

27 men working 8 hours per day

_ 6x6x9 1 d 1 1
7.8 :15 Sk -1 day’s work 1s =
x18 X+2 X
21. (a) The part of job that Suresh completes in 9 hours 2
8 3 1 5 2 1
155 = Xx+8 2x+9 x
s g 3 2 21 1
Remamlngjobzlfgzg = 2x+9 x x48
Remaining job can be done by Ashutosh in 9 g
=

5 2x+9:x(x+8)
— % 10 = 4 hours

5
=  2(x%+8x) =8(@x+9)
22. (d) 15 women's work of a day =17L:>Lpart =3 255 Al6x \16x TR
6 10 15 %
= e = 12
.. for 1 whole part a woman will take »
= X = 6.days
=I5 R IS 205 da. 4 (b) (A +BYs 5 days’ work
23 (b) myxdpxtyxw, = moxdy Xty xw
(b) myxdyxtyxwy 2 X g X1y X Wy 115 o
24510 %8 x1=m, x 6% 10 x 1 “3 125 20) 100 20
= 24511058 R ta Remaining work = 1—i L
\ 2 20) 20

EXERCISE 2

% of the work would be finished by B in

1. (d) ""Acando %of the work m 12 days

11
20
oo Acan do % of the work in I =11days.
20
4 1 _
12><B><§days = 2 days 5. (a) 50 men complete 0.4 work in 25 days.

2. (&) A% 1 devs vtk Applying the work rule,

mIXdIXWZZmZXdZXWI

1 1
= and B’s 1 day’s work = 9 we have,

50x25x0.6 =my x25x0.4

1 1y 1

: : = | medl =
(A+BYys | day’s work [18 } 6

o ~ 50x25x06
or m,= ————="T5men
. . . 2 25% 0.4
3. (d) Let the time taken by Bhavika and Ritika together
be x days Number of additional men required
.. time taken by Bhavika alone = x + 8 days =(75-50)=25

% d W, N L. |
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6. (b) Letin x days 10 men will dig a trench 60 23) 23 . o
100 m long , 4 m wide and 3m deep, working 8 11 60 ) 17 o & < hours.
hours a day
. . . . So, th k will be finished imately 2
Since, 36 men can dig a trench in 6 days in 10 o, e wor W.l o AR SEIREEY
hours after 11 am,, i.e, around 1 pm.
hours a day
366X 10= 810 xx 9 (c) 10men’s 1 day’s work = G;
% = %days = 27days .
>
15 women’s 1 day’s work = =
1
7. (d) In 1 day, work done by 12 men = 3 (10 men + 15 women)’s 1 day’s work
1 1 9 3
6 1 = | et e it
In 6 days, work done by 12 men = 3 15 12) 60 20
10 men and 15 women will complete the
2 &
Remaining work = E s
20, 6 2 days
Now, myxdyxwy =myxdyxw EPR ) %
5 10..(a) Work done by A and B in 5 days =
or 12x18x==16xd, x1
3 . 5
— - x5==
10 15 6
or d, = AwlEEe =9days
16
- 5 1
Work remaining = 1-—=—
8. (d) (P+ Q-+ RYys Lhour’s work 6 6
- N g <. C alone can do the work in 6 x 2 = 12 days
R e : :
[8 10 12] 120 Ratio of their share work
Waork done by P, Q and R in 2 hours 5 5 2 391
_(3,5).37
— 120 T 60 Share of wages = Rs 225, Rs 150, Rs 75.
Remaining work 11. {a) If A and B work separately then A completes his
work in 30 days and B completes his work in 40 days.
- [137]: é o Ratio of the days = 30: 40 =3: 4
60, 60 _
= Ratio of the work of Aand B =4 : 3
(Q + RYs 1 hour’s work
; 4 , 3
) LJFL n SO As shareféanstsharef_/
10 12} 60

Now, They received Rs. 2100( together).

11 _ _ B will receive a payment of Rs.
Now, & work 1s done by Q and R in 1 hour.

%X 2100=Rs.900

So, % work will be done by Q and R in

% " AR A
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12. (a) Let the number of men originally emploved be x.

O9x = 15(x - 6)

or x=15

1
13. (b) X’s one day’s work = Eth work .
Y’s one day’s work
= L+50% of L = Ltjh work
15 15 10
(X + Y)’s one day’s work
1 1

:—+—:lth work
15 10 6

Hence, they together finish the work in 6 davs.

14. (b) A’s one day’s work = éth work

B’s one day’s work — %rd work

1 1
oo As 4 day’s work = 4><§ = End work

. In next two days, total wall

IEETIPAL W EAYT.
> ds) 3 T

 Wia AfiRER
CIMNaming wa. 12 12

th
1 ; ; :
Now, §th wall 1s built up by A in one day.
11 ; 5 :
i Eth wall is built up by A in
R H_ 7l days,
12 o

1
15. {(b) Sakshi’s one day’s work = %th work

Tanya’s one day’s work
= L+25% ofL: i1;hwork
20 20 16

Hence, Tanya takes 16 days to complete the work.

3

"B /A BE /A

INSTITUTE

1
16. (a) 1 man’s 1 day’s work = 108"

12 men’s 6 day’s work = [;><6J: %

2
Remaining work = (1 = 5] =

| —

18 ments 1 day's work = | =181
mens ay 5 WOork — 108 = 6

% work is done by them in 1 day.

% work is done by them i 6« % = 2days

17. (b) Let work will be completed in x days. Then,

wotk done by Ain (X — 3) days + work done by
B in x days ='1

X;3 + i =2 1
9

= 3x =24 = x=8days.

18. (a) Let 1 woman’s | day’s work = x.

Then, 1 man’s 1 day’s work =

L2 | 4

524
and 1 child’s 1 day’s work = e

3x 6x) 1 1 4 1
S0, [—+4X+—]—:>X[—><—]—.
2 4) 7 7 28) 49

1 woman alone can complete the work in 49
days.

So, to complete the work in 7 days, women
required

(B

19. (a) 1 man’s 1 day’s work = E;

1
1 woman’s 1 day’s work = %0
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6
6 men’s 2 day’s work = (Ex 2]

o |

- 1
Remaining work = [1 - Zj =

e

Now, 61_0 work 1s done in 1 day by 1 woman.

So, % work will be done in 3 days by

31
60x “x = |=
[ 4 3] 15 women.

20. (b) Let Sunil finishes the job in x hours.

21.

22,

Then, Ramesh will finish the job in % hours.

We have, xf%:3ixz6

Therefore, Sunil finishes the job in 6 hours and
Ramesh in 3 hours.

1.1 1
Work done by bothrof them 1n 1 hour = e * 373

They together finish the piece of work in 2 hours.

(a) Sunil takes 5 days and Pradeep takes 15 days to
do the ‘work.

In a day they would complete

1 1. 4%
o el

ey, == k.
513 i wor

The remaining 11/15™ work would be completed
by Pradeep in

11
GXlS 1e. 11 days.

(¢) Suresh, working alone 42 days = 1 unit of work.

Mahesh is 1/5 times more efficient that Suresh.
So Mahesh is 6/5 times as efficient as Suresh. Hence
Mahesh should require 5/6th of the time, the time taken
by Suresh.

Therefore time taken by Mahesh = 5/6 x 42 = 35

days.

Wi N LW N

23, (a) Ganpat’s day work = 1/15 of the total

Yogesh’s 1 day work = 1/20 of the total.
Bhagwat’s 1 day work = 1/30 of the total

1 1
They can do [15"' %"' 30J of the total work in
1 day.

=5 Total work can be finished in
R
1 1 1
15 20 30

15%20%30
15x20+20%30+30x15

9000 20

1350 s L5

24. (b) Given' 12 men = 15 women = 18 boys

1 Man'= 1.5 boys, 1 woman = 6/5 boys.
Now, 5W + 6B = 12B.
Required answer is calculated as follows :
Total no. of boys reqd.
=18 = [(15/16) = (8/9)] = 15 boys
The number of boys already present = 12.
Hence, 3 boys more required.
But 3 boys = 2 men.

So, 2 men are required.

25. (a) Given 6 BSF =10 CRPF = 4 BSF+ 9 CRPF

94
=4+ (9 x 6/10) BSF = - BSF

94
Now work = 6 x 2 BSF days = EXX BSF days

94
We have 6 x 2 = EXX = X =127 days

26. {(a) The factors by which the expenses change are

= 8/9 x T/12 » 3/5 « 16380 = 5096 for 7 months.

27. {(a) 1 horse = 2 cows, 10 horses = 20 cows.

= 10 horses + 15 cows = 20 + 15 = 35 cows.

15 horses + 10 cows = 40 cows. Now 35 cows
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eat 5 acres.

40

=40 cows eat 5 X -z =5

35 7 acres.

Here we have converted everything in terms of
cows, you can work in terms of horses also.

28. (¢) Men  Women Children
Work 3 2 1
Numbers 20 30 36

Ratio of wages

=(3x20):(2%x20):(1 x36)=5:5:3

5
Total wages of men = EXT’SO =Rs. 300

. Wages of a man = Rs. 15

Similarly, wages of woman = Rs. 10

and wages of child = Rs. 5

Total waves of 15 men, 21 women and 30 children
=15 %x15+21 x 10+ 30 x5 =585

Total wages for 2 weeks = Rs. 1170

29 (a) Let 1 man’s 1 days’ work=x &1 boy’s 1 day’s
work = vy

1 1
Then, 2x + 3y = 10 and 3x + 2y = 3

)
Solving, we get . X=—— and y=

200 100

(2 men + 1 boyys 1 day’s work

7 1 16 2
= [ 2K —+IX— [=—=—
200 100/ 200 25

So, 2 men and 1 boy together can finish the work

1
n 125 days.

e D0 :
Le. =770 (2

From the given condition,

5 4 4
S 2 B A
5 B 3 (3

By comparing the ratio given in equ (1) and (2),
We can say C is the lowest worker.

Also, from equation (1) and (3), B is the fastest

worker.
~ Weh i+l+— =l fi D, (2
4 We have, sp TR Tgq " g HHOHHAL) €2,
(3)}
:>i=i:>5B=100:>B=20.
5B 100
Hence, B completes the entire work in 20 days.
Workin
31. (b) Men & Days Work
hours
15 8 12 1
x+§+é 6 30 2
2 2 4

Using M, T, W, = M,T,W,, we get
9
15><(8><12)><Z:(x+10)(6><30)><1

8x12x9

=18
2x6x4

= x +10=

= x=18-10=38

Hence, 8 men must be associated.

32 (¢) 10 men finishes a work in 10 days

1 and 12 women finishes in 10 days.
30. (b) A, Band C’s 1 day’s work = 10 .. 10 men and 12 women finishes a work in 10

days
ie. L_‘_l_,_l - 1 (1) 2. 15 men and 6 women will complete the work
A B C 10 S
10x10x12
Also, only C’s 1 day’ k= — SISy P
50, Ony L8 T EYS WOIR T 100 TR SETE A L I 3 G
d WiV LW\
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33 (a) lst man can do in 3 days :%part of the work 35. (b) Remaining work 1(_+_]

34. (b)

2nd man can do in 3 days = gpart of the work

Boy can do in 3 days

:1[3+3] :E part of the work
6 8 48

Ratio of their wages

3% 6 1 31
6 84 2°8'8
=4 3:1
Boy’s share = % 600 :l><600:Rs.75.
4+43+1 8

3
Ist man can do in 3 days = 7 part of the work

3
2nd man can do in 3 days = 3 part of the work

; 3 3
Boy can do in 3 days = 1 ;+§

= b part-of the work
56

Ratio of their wages :é:é L 24:21: 11
7 8 56
24
: = — 1400
Ist man’s share PR

= %x 1400 = Rs.600.
56

21

=—— %1400
24+ 21+11

2nd man’s share

:gx 1400 = Rs.525
56

11

—————— %1400
24+21+11

Boy’s share =

:Ex 1400 = Rs.275.
56

E

1 2) _9-(3+2) 4

3 9 9 9

4 men + 10 women do 1 work in 12 days.

6 men + 12 women do 1 work in 9 days.

48 men + 120 women = 54 men + 108 women
= 6 men = 12 women

= 1 men = 2 women

oo In 12 days 1 work requires @ men

2o In 1 day 1 work requires 9 = 12 men

9x12
3

2. In 3 days 1 work requires men

2. In 3 days 9

work requires

9x12x4
39

=16 men

There are 6 men and 12 women or (12 men

equivalent)

36. (b)

1. (b)

Wi N LW N
INSTITUTE]

So, 4 men equivalent is required additionally

.. 8 women are needed to finish the work.

1
In one hr. B finishes 20 of the work.

) 1 3 3
In one hr A finishes %XE T of the work.

2+3

" )
A+B finish 20

1
= 3 of the work in 1 hr.

Both of them will take 8 hrs. to finish the work.

EXERCISE 3

Let the man alone do the work in x days.

Then, the woman alone do the work in 2x days.
_ 1
Their one day’s work = 3 th part of whole work

1

Le. _
3

LS
X 2X
= x=12days

. man takes 12 days and woman 2x = 24 days.
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23x13 299
X = =NeE——
[ 10 } 10

2. (b) X’s one day’s work = %th part of whole work.

1
As 1 day’s work = ¢

Y’s one day’s work — Lth part of whole work.
30 23

Their one day’s work 10
B’s 1 days work = 509"

= L+L = Ltjh part of whole work.
25 30 150 {(A+ B)s 1 day’s work
Now, work is done in 5 days 1 10 13 1
. - e

== Bif= Eth of whole work
150 30 A and B together can complete the job in 13

. Remaining work days.

5. (¢) Let C completes the workan x days.

=i .- 11 = Bth of whole work
30 30 . 1

Work dong by (A + B) in 1 day = 0

1 . .
Now, ﬁth work 1s done by Y in one day. i
Work done by (B +C) in 1 day = —

18
19 . .
5 %th work 1s done by Y in A’s 5 days” work + B’s 10 days” work + C’s 15
days” work = 1
1 19 or (A + BYs 5 days” work
——x—=19days
1/30 30 + (B + Cys 5 days’ work

+ C’s 10 days’ work = 1
1
3. (¢) A% one day’s work = Ethwork

or i+2+E:1 or x =45 days
10 18 x
1
B’s one day’s work = EthWOTk 6. (b) Man’s two day’s work
Let B has worked alone = x days. Then, e B Lth il = Lthwork

A’s amount of work + B’s amount of work = 1

1 1
= 4[E]+(x+4)[ﬁjl

1 x+4 3
:Z+?:léx:le274 Bov’s two day’s work

Woman’s two days’s work

=Y, ith work = Ltjh work
30 15

s A days = 2><Lth work = Lt,h work
60 30
4. (b) Ratio of times taken by A and B

Now, let 2 men, 8 women and x boys can complete
=100:130=10:13

work in 2 days. Then ,
Suppose B takes x days to do the work.

Then, 10:13::23:x

2 men’s work +8 women’s work

+ x boy’s work =1

% d W, N L. |
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7. ()

)L

ix:[llg}do = x = 8 boys
5 15

Suppose that X men must be discharged at the

end of the 18th day.

100 < 10+ 150 x 1 + 200 = 7+ (200 - X) = 5
=100 x 30

5X =550 = X = 110 men

I5W=10M

Now, 5W + 4M

4x15

= 5SW+ W

=5W+oW =11 W
If 15 women can complete the project in 55 days,

11 women can complete the same project in

55x15

= 75days

9. (d) Let if both A and B work together, they take x
days.

o (A + BYs 1 days’s worke= lth work.
X
1
Als 1 day’s work = ——th work.
X+8

th work.

B’s 1 day’s work = .
®A+9/2

1 2 1

—+ =
Xx+8 2x+9 X

Now.

El

= R(2x+9+2x+16)= (x+8)(2x+9)

= Ax% + 25x = 2% + 25x + 72

= x? =36 = x = 6 days

10. (¢) In 8 days, Anil does = %rd work.

. 1
. in 1 day, he does = ﬂth work,

.. Rakesh’s one day’s work

E

11. (b)

1 1
= 60% of -2 = %th work.

W | b2

1
Remaining work = 1 ~g =
(Anil and Rakesh)’s one day’s work

= L+L :Lth work
24 40 15

Now,

]

%th work is done by them in one day.

2 2
. 31d work is done by them in 15x e 10days
A's one day's work =
B's ong day's work =

1
(B + C)'s one day's work = =

1 1

C's one day's work = ———=—
12 20 30

1
D's one day's work = —
24

oo (A+ B+ C+ D)s one day's work

1 1 1 1
e e
32 20 30 24

_75+120+80+100
2400

35 155
2400 96 32

5 1
Out of = of work done, 20 of the work is

done by C.

Wi N LW N

= Out of Rs. 25 paid for the work, C will receive

1/30 ; 1

32
Rs. 25, le. —x—=
S 5/32>< , le 30>< 5><25,

Le. Rs. E
3
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1
12. (b) A’s one day’s work = Eth work .

13. (a)

14. (b)

1
B’s one day’s work = Eth work.

(A + BYs one day’s work

= i+i: éth work.

1510

Let A left after x days.
S (A+BYs x days” work = %th work.

Remaining work

X 6-—-X

=1-=-=—"th work.
6 6

. 65—
Now, in 5 days, work done by B= Txth work.

. In 1 day work done by B

2 6_—X‘Lh work and EZ i
30 30 10

oox =73 days

Let Suresh undertakes a tour of x days.

Then, expenses for each day = Py
X
Now, e = @73
®hd
or 360[l ! J =3
X x+4

or x4+ 4x—480=0
or x=-24orx=20
Since, x #—24 we have x = 20

Let B can finish the work in x days.
Then A can finish the work in (x — 3) days.

1
B’s one day’s work = ;th work

% d W, N L. |

A’s one day’s work = Lth work
5

4
A's 4 days’ work = —— 3th work

4 )
ini =1-——=——th work
Remaining work g

The remaining work done by B in 14 — 4
= 10 days.

: Ko T
Now, in 10 days, work done by B= <3 th work

- In 1 day, work done by B

1 e
= —[X—7jth work
10\ x-3

16 7%
o W) x
—» X =15days

. B will finish in 15 days and A will finish in 12
days

1
15. (a) (A+ B)’s one day’s work = gth work

Let A can do job in x days. Then,

1
A’s one day’s work =—th work
X

and B’s one day’s work

= l_l = X;Sthwork
5 x 5x

Now , (2A)'s work + [%jB's work :%rd work

2 1[}{5] 1
S & =
X 3% 5x 3

:>X:§:6ldays
4 4

16. (a) Let 1 man’s 1 day’s work = x and
1 boy’s 1 day’s work = v.

INSTITUTE
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1
Then, 6x + 8y = T

1
and 26x + 48y = 5
Solving these two equations, we get :

1
x=——andy=—.
100 200

oo (15 men + 20 boys)s 1 day’s work

15 20

=B, _L
[100 200] 4

15 men and 20 boys can do the work in 4
days.

17. (b) Let x additional men employed.

117 men were supposed to finish the whole work
in 46 x § = 368 hours.

4
But 117 men completed 7 of the work in 33 x 8

' vaal WA 9§ R N

= 264 hours
117 men could complete the work in

462 hours.

Now (117 + x) men are supposed to do % of the
work, working 9 hours a day, in 13 x 9 = 117 hours,
s0 as to finish the work in time.

ie. (117 + x) men are supposed to complete the

whole work in 117><§ = 273 hours.

(117 + x) % 273 = 117 x 462
=  (117+x)x7=3 x 462
=  x+117=3 x 66 = 198> 3x = 81

Required number of additional men to finish
the work in time =81,

Pt INSTITUTE



